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— 771 7T WY RIYA DRI 79IN2 NPT P10
He took her in with the assumption that she was a 7702 and it
turned out that she was a ;79v2; she receives a Monoh

OVERVIEW
127 proved from the Xn»72 of 121 NWXA T{DJD,l that > 79Ww2 NRYNI 79102 pipligmiryiohis)
m1m 72.2 Our MooIN resolves a difficulty with this proof.

mooIN anticipates a difficulty:

= PYNRI NI IV NPT RN
And that which the Xnvs92 states; ‘for the first husband took her in’ as his wife,
(seemingly as a reason, why there is no 0°21n2 nivv), which would indicate that the reason he has
no 2°71n2 N is that since WX 71033, the second husband knew that she was not a 72103, so we
cannot prove from this Xn*>92 that 73 7n21N2 772 DRYAN 72102 NPINa 7010; for here it was not a
case of 72102 nprma 7012.” This seemingly contradicts the proof of 70!

mooIn responds:
= ©195 NNANN NIDNY PHINA NIYL YD PPN NPD YNRWN 9917 9NN 12 PN 13929 W9

The 2''2"1 explained; this is how the Xn»12 seems to 7127; the second husband

has no %12 ni1yw to diminish anything from her 721> -
- 73N NN MAY 0N ‘PYNT NI S9Ny

For the first person married her and caused through the marriage that her 72vn>
should be a mm -

719027 D3NN RIX P9IND NIYY RXINM RYT 130 AMNRD DY NIONY 919 19N
And the second husband cannot lessen anything from that 7%, since P02 niyw
is only effective to remove the extra 773 of P12 (that she receives a 7 instead of

! 2,X° (on the very bottom).

* See ‘Overview’ for previous 7% 7"7 'oWn.

3 This, in fact, is the refutation of *wx 2.

4 According to 7127, the &n>12 should have said that 2°%1n2 nIww 12 PR since 71 72 W 721W2 DRYA 72102 NPTNA 7035.

> See ‘Thinking it over’.

6 WRI 17015 is merely telling us that as of now she receives a 711 regardless whether he makes a claim (and [even]
regardless if she is still a 721n2]), but it is not the reason why he cannot make a claim. See footnote # 7.

7 731 understands the Xn>12 as follows (if we assume that 73 75 w* 79192 DREAN 79102 NPT 7012). There is no point
in his 2°9102 nivv for even without his 71vv, she receives a 7, since MWK 7012’ (as the Xn>>12 states); and even
according to his claim that 79102 nptna 7010 (since he depended on the 0*7v) nevertheless she still receives a 7
because 711 17 w1 721w NRYAN 72102 npina 7010, Therefore there is no point in his claim. However if we maintain
that 2173 X1 72192 NR¥NA 79102 NPIN2 1019, he does have a claim for since he depended on the 0>7y who certified her
to be a 21N, therefore he wants to pay nothing; why does the Xn"2 state 2°71n2 n1yw 12 PR! See R"wA.
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2°°nXn, but 0°91N2 NIWL cannot take away the entire 721N2).

SUMMARY

The phrase WX 7013 7AW (in the XN*72) teaches us that she receives a 71n and so
there is no purpose for him to claim, since in any event she will receive a 7 (for
737 177 WO AR DRYAN 79102 NP2 701D).

THINKING IT OVER

mooIn wrote previously® that according to the @ 7912 NX¥AI 72102 NPT 7010 7'
mIn 72, he is not believed in 17102 niww. Why does no0In write (here)’ that "W PR
WX 7030 7w 191 199102 NIy, when the reason simply is that he has no 2102 nvw
if we maintain that 732 7% w° O2Wa DR¥AN 7902 DPINA 010 as MDD wrote
previously?!'

8wy aptn "I R,
? See footnote # 5.
10 See x1 mx prx> 070.
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